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Cluster: 0130 ptr; resid: 0.35; r/c: 30/70

x.range

upstream meme PSSM #1; e=0.0002

1 3 5 7 9 111 3 5 7 9

x.range
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upstream meme PSSM #2; e=2.4e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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11131
15960

13386

23629

2607

32191
34965

36915

37305

40360 41701

42556

44287

44310

44502
44886

44926

45843

4606246251

47133

47155

47984

48055

48149

48846

48984

49451

6645

6698

string −500 −400 −300 −200 −100 −1
37305−0.10

6698−0.18
48846−0.22
49451−0.33
44287−0.34
48984−0.44
11131−0.44
40360−0.56
44886−0.57
48149−0.60
44310−0.64
46251−0.65
13386−0.71
47155−0.82
34965−1.01

2607−1.10
15960−1.28
23629−1.34

6645−1.34
45843−1.39
48055−1.44
41701−2.30
44926−2.43
44502−2.51
47133−2.54
46062−2.65
47984−2.88
42556−5.14
36915−5.61
32191−9.39

log10(P) upstream meme1 2 log10(P.clust)=−1.70; 30 seqs; 30 uniq
c(0.5, 2.5)
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